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QUESTION 1

Which operation does this Identify Duplicate Cases dialog not perform? 

A. Identify duplicate caseswith the same CUSTID number 

B. Sort in ascending order duplicate cases within CUSTID by the date of travel (TRAVDATE) 

C. Create a new variable PrimaryLast in the dataset 

D. Assign the value 1 to PrimaryLast for the duplicate case with the earliest traveldate 

Correct Answer: D 

 

QUESTION 2
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Which chart type is appropriate for viewing the association between two scale variables? 

A. Bar chart 

B. Area chart 

C. Pie chart 

D. Scatter plot 

Correct Answer: D 

 

QUESTION 3

The table below shows statistics for two variables. True or false: all people having a valid value for the variable AGE
WHEN FIRST MARRIED also have a valid value for the variable AGE OF RESPONDENT. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

Using the Compute Variabledialog below, the target variable HighSchool will have the following values. (Choose two.) 
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A. Value 1 if EDUC is less than or equal to 12 

B. System-missing value if EDUC is greater than 12 

C. The same value as EDUC if EDUC is less than or equal to 12 

D. Value 0 if EDUC is greater than 12 

Correct Answer: AB 

 

QUESTION 5

As the sample size increases, the amount of variabilit9 in the distribution of sample means increases. 

A. True 

B. False 
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Correct Answer: B 
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